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Dy =R
7(0) =0

Df =R\{-3}

Zf:qb

D; =R

£(0) = 9

Df = [-5;4+00|
£0) = V5

D; = R\{-2;2)

Dy =R\{-1;1}

Zy =10}



glx) =245

flg)=x* + T

Construire le tableau
de signes de

f(z) = (z —2)(4 - 3z)

17

Construire le tableau
de signes de

N 3 —2
 z2_9

f(z)

18

Construire le tableau
‘ de signes de

‘ f(z) = (z —2)(4 — 3z)(1 + 8=)




Df:R+
“ 19

(22 +5)° +

+ 5

2(9::2—1—7)

zp = {0}

5
2(2x + 5) +
8xr + 30

4+ 19

2(2x + 5)° +




19

' ‘ Représenter graphiquement

20

Représenter graphiquement

3
D ¢ f(z) = :1:,5‘3 3;20 D flz) = 2.1::-|j5,sz T
—x;81t <0 —2;81 T > 2
) ! D ¢
| vV UV 9V OV v vV VV 9V VY
G o @ P & () (o0
' O U V 9 9 Y 9V VO V9
23
) o i . = X
Déterminer 'ordonnée a Déterminer l'ordonnée a
' I I'origine de ' | I'origine de ' ( Est-ce que € \/z° = (\/E)2 »!
Y UV V9V O v vV OV vV V WV UV V O 9
b () &y P & @ () B




zr ={0;1}

non



